S Hgso) davaed dsvr eRvESIne BESy SdobeREm

TSGR Sirw® Sreea’ 2023 TAsbRFb oad,

560 |
P 8998845
BEE o2
rfﬂag Qevod) : 2 o8 h’ﬁag e20507%0 £ 100

ARUIIMIFL
1. T0ed Tpooyed decde O TETale) InBIrE ugkn woBdE e i) AN Slnd egm gifd asbnd
smmg Qs Loosct, vwzd mavady) :mam%m;s el Zeclob Tacor uz{,uammbr'l VETDIARYEICY, Loth Y eyiheain
e tabes ..u!.br{vd.} Roaih bl Bormminty aeznum-:ﬁe void i) acy wipeabt admdnwcmamd
2. OMR evsd wovobe w02 TR SIEQ MR Koidnve) LOGRYEIS) :
3. eghead SATIlab ool I L.Domot. evsd mevob) SnBEmAGS wdk ghEdfad ZrfateAdEid Sund wuEsaldayda.
SEparivd Food Bod% #Datﬁﬁd Hﬂ)b‘i B Shs) d‘di:_.auuuf vozd wevabe l‘.ﬁ!@’mﬂm Zerdod %.rlf&bi# i".dni)l‘gdg.

4. oz TEidnie and oo sdad
5. wEd) noNhaT TEThtad cPekdhe A Aercid sosjadey FrteBTCE: ~setomid. os
TES88abed thed DEEe 2dabieocd S g 8 8 L‘ L& 5

6. o TY=diay 100 TRy evieddsd BIded Zan 1E'.u1 Lvecaded. Jay ovzd mevade) ridhd mRale IR
oty ud) SROLRE, Lo D o noTkos kb Kot @dr’#duiao;b Dy RO HDA sRIDSJOS evEdh rodd
maa&amaummsmommmsqum

7. Wik o o) o) ooy oowd (o Ddivey ) wE e etk DY (eewdcl omcde
Aeomiomer), eydmiv o rReldb Ty <08 fedkern Sidi |

8. oo vnEirva Sl woiRoands TR Loaecf. endd medah dxe qmmt@m@mm

9 meuaumuhmw@mm@wom ol Aot Bl k) SRR TS
Brcdaty eodte Sowcit aETAldevRch S todb wokd b ey geodad ERtabeYy evSdanichnd Soncd wrf Sta
Sy SRyl apREY, YD Laasct, eved mevabd TRstad Fedabe SPotemit dlrdzoerbac

10. woch ¢ eyfran ddey efrob personalized eoowdi'evzd mwvaby euzblEsd) wow woouct. ewsd mpvabal
ehogbadoch SBrdRarbYLD. wn

11. exyfroly personalized e.Sosof evzd medabed Mq;bq Fo SRasych sa0Q, wodd oyfrad wdawsot. eosd
mquumdmmmqm

12 caiw Non-personalized ©.ooect. swzd modabe) evsho %ﬂﬁn deeordd Joal, ) TESIE Zecdobay echidS "v'dea
Dd:b sowomed) SFTEN afdaat zt:aﬁ. r8sans o‘émg o mdﬁ’dg S..Zdeg. wosE eyfrab ool u'Dd.'i

medobily elogblos SerriRourbaeh.
13. mbgc® dero® (moumed Tov)IQ erifra soth Ib SRV
14, w&mw@@%@m@ﬁmﬂ@mmmw
15, SOedod Swmabsdl Aecfrbs wolah roll RO SFrde t.ooucr, n2d medabe) amEch bod SeaPcE) PR, Fodaed
ood:adxgmdr._muo‘ wosd sedabaly Bw) Sod Sdobisd dig Brichdedmadie N wrivcgele BXIoEich.
16. eyi@roly e’ o Loount. evsd =evab 3 (candidate copy) v.ﬁ&q “oBah  wobTtobi -‘uesnmd A aeemiied
M%mwumwwmmzwww@w?mm%
17. @WM%MWWM@WMWWMMM@MW
18. =) evecrior! DR=owte ciod :
() da@ﬂuu&dr@m:gemmam S exifeds =) oued SOTQ e o¥ TAzOIows eoeivy .(025)@
eosrivily Cooi desice) Evabemrbay
(i) o o TH Lockos i evsdSsy MO, Boog e evidey RouteGHs R woR B evgd Db TR T
eod, ded 3QMedce & Yl codady DoToRIYE
(1) wwmmwmmammmwuwmmw

eeyte ORGD SRTyD" SLRtrIIVD, FREFE WELNIV, 1Ot OrLCIVED GG B0 SOTRIN/feb Dl ORIV
Toewy wSterivy) DY dHBEornD.

Note : English version of the instructions is printed on the back cover of this booklel.

560-P



1. oPs o TEssy o LAN nds)
B WO
2O,

COMPUTER KNOWLEDGE q
3. gunR SBeosrvy S0MRN

8 O
PN olat

ROTEE R

OTESST?

(1)

(2)

(3)

(4)

O ToEE Tes (hub)

SRNERET S (router)

2,308 (switch)

20Ts8 (Rossresd) (bridge)

2. 83 VNS odRgmd o [-aoeern

T0OBNT Ba:mdmd <0&2 (protocol)

ZlglevcTa ks

(1)

(2)

(3)

4

560-P

Telnet

ETP

SMTP

DNS

htkas com

)

esiq

For

(2)

(a)

- (b)

(¢)

(@

1
2)
(3)

(4)

tiwE oncme Seetdsy) 2.0

dopomod %P 23C0HOINE

Rogeess sRONbRy SO

20POT  WWTE® Brectiess),
RRTO 270030 OTET
QT RESRODTY, E0OTEBHL
TREABE

mawY, Seely Josos SRuor
T wSHs SRR, @e;)v
Doey Y NI FOR TRBWLITITD
(a), (b), (c) O

(b), (¢), (d) =0

(a), (c), (d) &6

(a), (b), (d) =0






g R

4,

BeT0

Bea0R-50D  Fometio’
:%3?%053 FEORT wITeRS o
(1) odog o

(2) ReEse FHAH 2o
3) R’ (Pascal)

(4) Ppeotéws® (Fortran)

FOOIRE 230 aﬁéa‘ega'm 0dRE T
WET), LB odwss  abozpos DRl
TIeTo), Beodve. CPU oodeeess

Rleriel Tol) Sbeerdeyey
WIISNST.

(1) =20¥3000 evosCens
(2) =08F dobogsrisd
(3) e@esz dweeddnd (IRQs)

(4) mﬁam SoabE B JeeT0ST

m"o:-"'gda_"a

obozRos  SHE  wwd SoBRYONY

w¥doh Jrommad Benabe) Fommbio
aﬁsa“?a;ai: 2300

(1) esod FRTL

(2) oy FEHAHNR

(3) woodEe3oR ﬁ@a{;

(4) omgese S03P0Y

560-P

Faresiq h_tkas; com

(4)

s»re  (Shortcut key)

)
(2)
®3)

&o83-1

(A) RogeeResd

1]

Se Qi)'aa'é)ﬁ:r?

Ctrl + F4
Ctrl + F
Ctrl + Shift + F4

Ctrl+ D

-Is wéé—II Breodr} Beedd :

o&3-11

@) S TS

(B) &one (1I) @ pS

(C) oodPas® (I1I) @Syt /RES e’
TOL©

(D) Breed® (IV) Bpetpesoesd

(1)
(2)
3)
(4)

@A) B) (©) (D)
O @D an av)
I an avy @
ID av)y @ am
Iv) ) ap @




program

computer system is

(1)
(2)
(3)
(4)

An

o

which programs have access to which

hardware device and uses E

to help CPU coordinate processes. ‘:-:E

w

(1) user interface ©

.

il

(2) disk drives N
R

(3) interrupt requests (IRQs) T

Q

(4) multitasking and parallel‘a

LL

6. The part of the computer system ina
charge of managing the hardware

and the utilization of its resources is

(1)
(2)
(3)

4
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The

language that is used to

the first stored-program
Machine Language

Assembly Language

Pascal

Fortran

operating system keeps track of

processing

Application programs
Utility programs
Operating system

System software

(5)

What is the shorteut key to close
Active Document in Microsoft Word?
(1) Ctrl+F4

@) Ctrl+F

(3) Ctrl + Shift+ F4 °

4) Ctrl+D

Match List-I with List-II.
List-1 List-II
(A) Bridge (I) input device
(B) Ping (IT) network device
(C) Joystick (I1I) input/output
device
(D) Modem (IV) protocol

@ ® © O
® O Ona aw
@ am an av @
(3 an av) @O Iy

4 av) am a @






9. Which of the following commands is
used in PowerPoint to bring the user
directly to the presentation’s first
slide?

(1) Ctrl + Home
(2) Alt+ Home

(3) Ctrl + Page Up
(4) Alt+ Page Up

10. From which menu can we access a
Text Box, Picture, Chart, etc.?

(1) File
(2) Edit
(3) View
(4) Insert

11. In MS Excel, Shift+F3 shortcut key
is used to insert |
(1) header & footer
(2) a function
(3) a picture
(4) atable

560-P

dS.Cl

Foresig

(7)

12.

Which equipment is necessary to

access personal

computer with

Internet?

(1) Gateway

Modem

(2)

(3) Monitor

(4) Routing

The graphical representation of data

in MS-Excel is called

(1) Image

(2) Charts -
°

(3) Drawing

(4) Symbols
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(1)  osy xosR (Main memory)

(2) &3eab ®O® (Secondary memory)

3) o Sked

4) RBperpo Seded

156. Seose Vel Oavg 500RITErILh

2.9 RORBRITD

(1) TogamRs tieps

QRO

Ve

(2)

(3) 'aoé.irjeé&:s*? m’ﬁratsrési

(4) eOTPYNvY) adpPyEe ©Y

16. NTFSS sgecertns '

(1) mﬁdmg éﬁa@p& %eﬁ ?u?g‘“o
(2) = SR Heeo® ?u?ud‘o

(3) m000° &e2es® a”.seﬁ F”ua‘éo

(4) =r Bmor HO® AT
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(8)

17. obess Epeseoosa) 008 deSJ,- (Eloe]
Jpstriedhy RO RIEDSRITLI?

(1) =gste

2) et oD e0°

(3) seadeotion®

4) SoeOTYrve) odEYER ©Y

18, ®eoBd wdod :

(A) Home (Dfises SRS
20538 oD ar:§§
2,003 ?.‘JO#E‘@ES’R)’%
2H0T.

(B) Tab (ii) def soolnotiod
2,0z eﬂoﬁcai:iaﬂgi
wide T zaer%
BT,

(C) Shift + Tab  (iii) d=™ .0
=ogaly 3903
2R3,

(D) PgDn (iv) ey TWS [DOS
Feeda Awo#ca§
Ped sedootlod
ey, odeETeriee
TOA.

A4 @ (©) (D)
1 Gv) G) @) (i)
(2) @) @ Q@) @
3) @) @) @) Gv)
(4) G Gv) @) @i

19. ®oxs aﬁeﬁ a,’guﬁmz é:)@d

TperdaleeRs HERITE?
(1) o
(2) &O@E
(3) Seth
(4) wmoy
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14. Where are data and programme 17. Which of these toolbar allows
changing of fonts and their size?

stored when the processor uses
P AR (1) Insert

them? (2) View menu bar

(3) Formatting

(1) Main memory (4) None of above

(2) Secondary memory
18. Match the following :

(3) Disk memory (A) Home (1) Cell pointer
jumps one
column to the
(4) Programme memory left of the sarie
row.

(B) Tab (1) Cell pointer
jumps one
column to the
right of the
same row.

(C) Shift + Tab (iii) Takes you one

screen down.

(D) PgDn (iv) Always moves
the cell pointer
back to
column A of the
row where you
are currently
positioned.

15. Third generation computers consists

of

(1) Vaccum tube

il

FoTesghtkas. com

(2) Transistors
(3) Integrated circuits
(4) None of the above

A) B () @D
(1) @v) @ @ (@)
(2) @) @) @v) @
16. Full form of NTFS 3 @O @) @) Gv)
4) @) Gv) @ @w
(1) Newest Technology File System
19. How many default sheet in

(2) New Technology Folder System MS-Excel file?
(3) Number Table File System 1) 1

(2) 2
(4) New Technology File System @3 3

4 4
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20. NEEMOTZY WA eSS’ 23. 00D goatQfio®
FO0DE VE doredesasa,

(1) Caps Lock esaf 50edes

3060
(2) Scroll Lock exf oedesd (D zacte TR e
(3) Number Lock esa® x0edesd (2) S eot

(4) Insert 8¢ &s° [oIesd
(3) seolmreIcTe FE

(4) Rosos

21. “Ssftfreikikfse” 82 ©TONY xocdodn B3

3903 abns e, ReRber? 24. 3RSV Beodd w300 :
(1) = =3 _
(2) mg as’ﬁé E a.»"ég—l w%_u
(3) 3 &
@ <o & (A) Docdroes (1) S8 Ge/ago Be
S A
.g_ (B) eesss sec3d (II) HobiosBer®
22, wy-Inty E-11 deodrs Reold : E s
|
= gl LE (C) &egs Sovgos  (I1I) seadmre3cs ST
(A) RAM (1) @s0s Swroen
38 (D) soode 335 (IV) Qodre 0
(B) so03®e 2305 (IT) e8¢ T8
i a) @B (©
(C) ROM (I11) &0 BozR03 D)
D) 4,8 328 (IV) sBeosem 7,8 1 @ @ Jm av
2 I av) an @
@) ® (© O @ an an avy @
(1) dn am avy @
(2 dma O av @ V) I an @
3 @O @dn dan av
(4 av dn @ ay
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20. To Nudi software 1n

computer system

.operate

(1) Caps lock should be on
(2) Scroll lock should be on
(3) Num lock should be on

(4) Insert key should be on

21. “Ssftfreikikfse” this
indicates the word.

key sequence

(1) =, oo

o}

2) D% o3
o |

(3) DreIdS -
=N

(4) ®ozd

22. Match List-I with List-II :

List-1 Last-II
(A) RAM (I) fastest memory
(B) Operating (IT) volatile memory
system
(C) ROM (I11) system software
(D) Cache memory (IV) non-volatile

memory

@A B © @
(H  an dmn avy @
2 {dn an @ aw
@ O andan av
(@ av) amn @ a.

560-P

have the

(1) Assembler
(2) Loader
(3) Operating system

(4) Compiler

24. Match the following :

List-I List-II
8 (A) Windows (I) System Tray
E."E (B) Desktop (II) Internet
"'E Explorer
=2
¢ (C) Browser (I1I) Operating
o
0O System
LL.

(D) Task bar (IV) Window screen

A ® ©
M @ ap an av
@ ‘(D av) ap @
@) an @ avy @
@) @) ana o -

(11)

923. A computer cannot boot if it does not
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(2) =00 (Grid) (1) vidfyATiFvEtn
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(4) 2= (Cloud) (3) vidfyATiFvetn
(4) eI adRPYTe &Y
26. g-aees, SPSRE  esEinisd, LR
@17 [ ] d;eéd, dg oedod R.a’oa'g”dra 29. MS Excel ) a:} 332@ 20053
3 CRM risd ws0ess. g SeBlE TSR oS SRESE.
(1) PaaS <
, W (1) ek edes®
(2) Saas
(3) IaaS (2) w30t
(4) PYTY dYTpP -
% g'j (3) estiee 85,
-
27. Spfe  (@ugorons) o0 D (@) eBomoes
TR BedFoby WOTICAR.
(1) #eSw wowh Wb TITYOTEI)
R, 30. 23R womd CeonSQ TRURDRY
220030205060
60T WYRRTDE FHogT® aPRyE? 1
(2) ssrende wdobewesm WeYoTED)
DESRRCDREY (1) Add() [
(3) msgozmmy — wdoben St (2) Abe()
DI, WIRVTD (3) SUM()
4) 08 DR (4) plus()
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66.

67.

68.

69.

GENERAL ENGLISH

Direction Question numbers
66-69 are divided into three
numbered parts. They may contain
an error in one of the parts. Identify
the error part and shade or blacken
the corresponding number in your
answer sheet. If there is no error
shade or blacken the option (4) in
vour answer sheet.

Example : Leela and her friends /

(1)
has sent me / a_greeting card. /
(2) 3
No error.
(4)

Explanation : The correct option in
this sentence is the part numbered
(2), as it contains an error. You must
shade or blacken (2) in your answer
sheet.

He =said that / he will discuss the matter /
(1) (2)
the next day. / No error.

(3 (DS

Electronic voting is / the standard
(1)
means of conducting elections /
(2)
using Electronic Voting Machines. /
(3)
No Error.
@)

A distance of thirty miles /
(1)

were covered / in two hours. /

(2) (3)
No error.

4

One of the girls / need /
(1) (2)

medical attention. / No error.

(3) 4)

560-P
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71.

Direction : Choose the synonyms for
the underlined words 1n questions
from 70-71, shade or blacken the
corresponding circle in your answer
sheet.

Example He is an influential
person and belongs to an affluent
family.

Poor

Weak

Rich

Political

(1)
2
(3
(4)

Explanation': Among the options
given, option (3) is synonym to the
word ‘affluent’. Therefore you have to
shade or blacken the corresponding

circle in your answer sheet.

The hills were tranquil and prowded
comfort to the mind.

(1) Steep
(2) Dark
(3) Calm
(4) Gloomy

Rational thinking gives a better

understanding of the concept.

(1) Logical

(2) Emotional
(3) Quick

“4) . P;lssive




72.

Direction Question numbers

72-75 test your understanding of

1dioms and

phrases. Choose the

sentence from the options given,
which explains the correct meaning
of the underlined idiom or phrase
and shade or blacken the
corresponding circle in your answer
sheet.

Example : We are looking into the

reasons for the sudden fall in prices.

(1) We have seen the gradual fall in

prices

We know the reasons for the fall

in prices

(2)

(3) We are trying to find out the

reasons for the fall in prices.

We have noticed the fall in

prices.

(4)

resiq

Explanation : Option number (3) is
the correct answer and you have to
shade or blacken the correspondin

circle in your answer sheet.

He could make neither head nor.
tail of the matter.

(1) He could not read the Heading
of the letter

He could clearly understand the
letter

(2)
(3) He could read the letter quickly

(4) He could not understand the

contents of the letter
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73.

74.

75.

@

The young man Mj_i_d_ffﬂ_f;‘l‘_' to

his parents’ advice.

(1) The young man was deaf

(2) The youngman advised his deaf
parents

(3) The youngman's' parents were
deaf

(4) The youngman did not heed or
care for his parents’ advice

The young wife saw her husband off

at the airport.
(1) Both husband and wife wanted
to see the airport

The young wife had seen her
husband at the airport

(3) The young man met his wife at
the airport
(4) The young man was

accompanied by his wife upto
" the airport

You must learn to strike the iron
when it is hot, if you want to be
successful in life.

(1) You should avoid touching hot

iron

You should start iron-business
to be successful

@)

(3) One has to make use of the

" opportunity that comes in one’s
life

(4) One should handle the hot iron

carefully while striking it



76.

(A) As proud as a

(B) Electric hair

77

(C) Crying cloud

Match the following sentences with

the figures of speech used in them.

Figures of
speech

(1) Paradox

peacock
(11) Metaphor

(111) Personification

(D) True ties (iv) Simile
@ ® © O
1 @@ @ @) G
@2 @O @) @ (@)
3 @) @ @) @
@ ) @ G @

Add a suitable question tags to the
given sentences. Choosing from the

given options.

The apples are bright ———2
(1) Isn’tit?
(2) Aren't they?
(3) Are they? -
(4) None of the above

560-P
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2

80.

) i . 15
Directions : For Question No
1s of verbs for

[dentify the correct form _
: ts in the

the words given 1n hracke ;
nd shade/darken

in your answer

following sentence a
the appropriate circle
sheet.

When 1 (Arrive) home
[ e (g6¢) that SOILEONE
(break) into my house.

Arrived - saw - had broken
Had arrived - saw - broke
Arrived - had seen - broke

Arrived - saw - broke

(1)
(2)
(3)
(4)

In the following qugstior}s
(79-80) a sentence has been given in
active/passive voice. Out of the four
given alternatives, select the one
which best expresses the same
sentence in passive/active voice.

She had taken the checolates from
the fridge.

(1)

The chocolates were taken by
her from the fridge -

The chocolates are being taken
by her from the fridge

(2)

(3) The chocolates had been taken
by her from the fridge

(4) The chocolates have been taken
by her from the fridge

The

thief is being arrested by the
policeman. :

(1)

The policeman arrested the
thief

The policeman is arresting the
thief

The policeman will be arresting
the thief -

The policeman has
thief

@)
®3)

(4) arrested the




82.

560-P

Fill m the
appropriate
below :

the
given

with
prepositions

blanks

The train passed the tunnel.

(1) under
(2) below
(3) over

(4) through

Directions : For Question No. 82.

A sentence has been given 1In
direct/indirect speech. Out of the four

given alternatives, select the ome

the

which best expresses same

S.Com

sentence in indirect/direct speech (0

and shade/darken the corresponding™=

htk

circle in your answer sheet. -

Andrew said, “Nila, I will give all my

oresig

F

books to you”.
(1) Andrew told Nila that he would

be giving all his books to Nila.

(2) Andrew told her that the books

will be given to her.

(3) Andrew told Nila that he would ,

give all his books to her.

(4) Nila was told that she would be
given books by Andrew.

1)

33.

Directions : For Question No. 83,

Out of the four groups given, select
all

correct abstract nouns formed from

the group/groups that consist of

adjectives and shade/blacken the
corresponding circle n your
answer sheet,
Group A
(a) courageous - courage
(b) angry = anger
(c) dangerous = danger
(d) beautiful - beauty
Group B
(a) lucky -  luck
(b) ftrue —  truth
(c) strong — strength
(d) natural — nature
Group C
(a) painful — pain
(b) active =~ — act
(c) calmly — calm
(d) carefully — careful
Group D
(a) deadly — death
(b) direct — direction
(c) eésy — easily
(d) energetic —  energy

Select the code for the correct answer
from the options given below :

(1) (A) and (C) only
(2) (C)and (D) only -
(3) (A) and (B) only
(4) All of the above




84.

85.

Direction : Replace the sentences in
Question Numbers 84-85 with a
single word from the options given.

Choose the appropriate option for

each question and shade or blacken
the

corresponding circle in your
Answer sheet.
Example One who gives or

sacrifices one’s life for the sake of a

general cause or faith.

(1) Migrant
(2) Refugee.
(3) Martyr

(4) Immigrant

Explanation : ‘Martyr’ is the right
this and
option (3) has to be shaded or
blackened in your answer sheet.

answer for

question

Branch of medicine concerned with
disorders of the mind.

(1) Sycophancy .
(2) Psychiatry
(3) Physiology
(4) Pathology

Deliberate killing of a large number
of people from a particular race,
group or community.

(1) Suicide .
(2) Patricide
(3) Matricide
(4) Genocide

560-P
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86.

817.

Questions from 86-87
0n “f

Fill in the blanks with

Direction :

are  based the degrees
are dol

comparison.

propriate words from the
S HiaHl

alternatives shade

corresponding circle In

the most ap

and or

given
blacken the

your answer sheet.

Example : Nayana walks

than her sister.

(1) faster

(2) more faster

(3) fast

(4) fastest

Explanation Option (1) is the

correct answer and you must shade or
blacken the corresponding circle in

your answer sheet.

The last question was the
difficult question of all the questions.

(1) more
(2) most.
(3) much
(4) less

No other girl in our class is as
——— as Usha.

(1) smarter

(2) smartest

(3) smart .

(4) smarter than



Direction:  Choose the antonyms
lor the underlhined words in questions
from 88-89, shade or blacken the
corresponding circle in your answer
sheet

Example : Gladiators were known

for their physical strength.

(1) Wealth
(2) Weakness
(3) Might

(4) Pnide

Explanation : Option (2) is the right
answer among the options given as
the word ‘weakness’ is opposite in
‘strength’.
Therefore you have to shade or

meaning to the word

blacken the corresponding circle in

yvour answer sheet.

88. He is a thief and has been advised to
mend his immoral ways.
(1) Ethical -
(2) Bad
(3) Illegal
(4) Illegible
89. An innocent person easily believes
strangers.
(1) Frank
(2) Faultless
(3) Childlike
(4) Cunning-
560-P

| e
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92.

93.

(23)

= 90.

Direction Read the passage and
answer the questions from 90-93
that follow. Your answers to these
questions should on the
passage only.

[t 18 said that about one-third of the
time an employee spends at his or her
workplace, 1s spent in communicating.
An efficient organization uses prompt
and  cost-effective  communication.
K-mailing has been the most preferred
mode of communication in the
personal as well as official spheres. It
saves enormous amount of paper and
1s cost-effective. It can be used for
long-distance communication and it
gives instantaneous access to the
people.

be based

E-mailing 1is

(1) a slow method of communication

(2) an expensive method of
communication -

(3) an elaborate and complex
method of communication

(4) animmediate and simple

method of communication

E-mailing is an eco-friendly way of
communication as

(1) it saves paper °

(2) it gives quick access

(3) it is used in long distance
communication

(4) all the above

In the sentence ‘It saves enormous
amount of  paper and 18
cost-effective’, the word ‘enormous’
functions as

(1) a preposition -

(2) an adjective

(8) averb

(4) a conjunction

The word ‘instantaneous’ is closer to
the word in meaning.
(1) Intermediate

(2) Inappropriate

(3) Immediate -

(4) Interrogative



Directions

94 and 95 choose the appropnate

prefixes to the following words in

respective order to

antonyms and

corresponding circle in your answer

sheet.

94. Appear, friendly, justice, fire
(1) Un, In, Mis, Dis :
(2) Mis, Un, Dis, In

(3) Dis, Un, In, Mis

(4) In, Un, Dis, Mis

(1) In, Un, Im, Ir

(2) Un,In, Im, Ir

(3) Un In, I, Im

: For Question Nos.

form

shade/blacken the

95. Wise, Definite, Proper, Responsible

their

Foresightkas.com

96.

In questions from
derlined words are
related to @ particular ﬁe_ld!mm-_-.bgﬂ
group Or word among the given
options. Identify the correct option and
shade or blacken the corresponding

cirele in your answer sheet.

Direction
96-97, the un

Example : The bridge was built a

decade ago.
(1) Twenty
(2) Ten
(3) Fifty
(4) Two
Explanation : As the word ‘decade’ -
means ten years option (2) is tl}ex '
right answer and you have to sh de

or blacken the correspond_mg el
your answer sheet.

ﬁeldof ol
(1) Business * L =



98.

99.

Directions IFor questions

98-99, a phrase/phrasal verb has
been used 1n the sentence. You have
to choose the sentence which
explains the correct meaning of that

and shade/darken the correct answer

in your answer sheet.

The commotion died down after the

police arrived.

place became silent -

(1)
(2) the noise reduced
(3) the noise suddenly stopped

the noise suddenly increased

“)

‘Pay Back time’

time to increase payments

(1)
(2) time to stop payments
time to take revenge

3)

4

time to prevent revenge:

100.

Directions : Question 100, conltainsg a

and
the

paragraph of 6 sentences. The first
the sixth sentences are given in
beginning and end and numbered 1 to 6
respectively. The four sentences in the
middle are jumbled and labelled as
P, Q, R, S. You must identify the proper
order/arrangement of the sentences and
shade/darken the option that correctly

identifies this sequence.

1. It is said that faith moves
mountains. Conviction is what

~ is most important.
P. The little boy did the bidding

everytime for ten rupees but the

adults out bade him with higher

amount.

The police

announced an auction of fifty

unclaimed cycles for a cheap

price.

Towards evening when there

was only one cycle left, the little

boy opened the bid with ten

rupees. But this time, none of

the adults bade. The silence was

shocking and encouraging at the

) same time. :

S. Hundreds of buyers gathered
there and were prepared to bid.
A little boy went therewith only
ten rupees in his pocket. _

6. The highest bidder for the
fiftieth cycle was the little boy.
Everyone felt happy on seeing
him ride away joyfully.

The correct sequence is

(1) QRSP

(2) QRPS*

(3) QSRP

(4) QSPR

department

560-P
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